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265-              

1 (1    

2 (2  

3 (3  

4 (4  

9 8 5 2 19 60 70
21 14 3 6 13 39 18 9
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266-                  .       

  

1 (

  

2 (  

3 (

  

4 (  

2267-              

  

  

1 (    2 (  

3(     4 (  
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268-         .        

 

1 (    2 (  

3  (    4  (  

2269-        

1 (    2 (  

3  (    4  (  
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270-    .          
بالا

جلو

چمپ

بالا از بالاتصو
ر از تصو
ر جلو از جلوتصو
ر از تصو
ر چمپ از چمپتصو
ر از تصو
ر

 
  .              

بالا از بالاتصو
ر از تصو
ر جلو از جلوتصو
ر از تصو
ر چمپ از چمپتصو
ر از    تصو
ر
           

1 (13    2 (14  

3 (15    4 (16  
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